1

SPECIAL SPRINGS

ACCESSORIES

NEN | NDE | IFR | =2 EPT |

- Pressa trasportabile - Transportable press - Transportabele Presse - Presse transportable - Prensa transportable - Prensa transportavel
con pompa pneumo- | with hydraulic manual | mit manueller Hydrau- | avec pompe oléodyna- | con bomba oleodinamica | com bomba hidraulica
idraulica i pump i likpumpe i mique manuelle i manual i manual

- |donea per raccordi - Suitable for straight, - Geeignet fir gerade, - Utilisable avec raccords - Puede ser utilizada con tu- - Pode ser usado com
dritti, 45° e 90° i 45°and 90° fittings | 45°und 90° Anschllisse | droits, 45° et 90° i berfas derechas, 45°y90° | tubos retos, 45° e 90°
code 39PR06 code 58UT022A (included)

Utensile rimuovi morsetti con calamita
=YW Magnet tool to remove pressing jaws
[>T=8 Magnetwerkzeug fiir die Entfernung

| von Pressbacken
=3 outil magnétique pour enlever les

machoires de pressage
[==3 Herramienta magnética para sacar las
code 58UT001A (optional)
R
o“l

mordazas de la prensa
=3 Ferramenta magnética para remover
0s mordentes de prensar

Forbice taglia tubo
=X Scissor for hose

) ' [=1=0 Schlauchschneideschere
; [==¥ Ciseaux coupe-tube
{ [==3 Tijeras cortatubos
i =3 Tesouras corta tubos
"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" code 58UT023A (optional)

E [ Lampada led con magnete

=W LED Light with magnet

) ~ [=I=H LED-Lampe mit Magnet
[Z=W Lampe a LED magnétique

&P

& o
B § - LxPxH

7bar | 100TON 380x430x400mm | 38kg = -5:40°C ol L ey
Hopsi i TOUSTON| 15X T7x16inch & 84lb | 28:104°F | =a Lizgiz LEDCC‘;’:T]'TSZH
» ORFS Micro 32° - JIC 37° FlexFlow JIC 37° EO 24° ORFS
g IITSM" | IITSMII | IITMAII ||TNB|| ||HY 500" IIHY 400"
E HOSE 75,5 3 HOSE D 5,5 3 HOSE 75,1 HOSED 8 HOSE 7 11 HOSEZ 127
o (¥ p.288 | g7 p.272-273 | ¥ p.275 (7 p.273 T p. 268 T p. 284
= 1 1 1 1 1

code 39MTR12 (optional) code 39MTR13 (optional)

Ordering example: 39PRO6A + 39MTR11 - Pressing jaws for Jic 37° "TNB" HOSE 0 8,1

Special Springs

024 - 267




EO - 24°

HY 500 Hose @ 11 mm

code 36HY50001...

HOSE CODE 36HY500

$14-16+18 Nm

L (min 125 mm)

code 36HY50003...

62 62
244 -

$14-16+18 Nm

M12x1,5 M12x1,5

L (min 155 mm)

code 36HY50005...

62 50
244

% Twin -
m seal e
code 36HY50002...

S14-16+18 Nm
M12x1,5

L (min 140 mm)

 code 36HY50003...V1 O

62 M12x1,5

17

$14-16+18 Nm
M12x1,5

code 36HY50005...V1 O

62

118

17

S14-16+18 Nm
M12x1,5

L (min 150 mm)

code 36HY50006...

50

S14-16+18Nm

M12x1,5

code 36HY50004...

50 43

30

$14-16+18 Nm

L (min 130 mm)

All dimensions inmm/inch
268 - 024

S14-16+18 Nm
M12x1,5

L (min 150 mm)

M12x1,5

$14-16+18 Nm

|| mi2xt5
i

L (min 140 mm)

Special Springs



L)

Hose @ 5,1 mm

GUdE TMD L tg (90 + 120 mm) L ":g (> 120 mm) GOdE TMD...'1 GOde TMD...'Z

2
| HosE
CODE 36TM

code TMDR...-1 code TMDR...-3 code TMDR...-2

L *3 (min 140 mm) L *3 (min 190 mm)

051
0.20

L*5 (min 155 mm) L *3 (min 155 mm) L *3 (min 195 mm)

L™} os:13smm) LYY (-135mm) code TMR...-3 code TMR...-2

© \
'S CoDE 36TM

L *:g (105135 mm) L +g (> 135 mm) ‘ code” ... -3 code TMR...V1-2

L5 rin 150mm) L8 minzoomm)

L *3 (min 200 mm)

¢/ nAMR...V2-3 code TMR...V2-2

+5

L *3 (min 150 mm) L*5 (min 200 mm)

anr \
Q/ 5 | Host
=S 1 copE 5,

L*3 (05213 @) L™ 35n. code TMR...V3-3 code TMR...V3-2
~ ~ . 0 1 5

_ - L*3 (min 150 mm) L*3 (min200 mm)
=
i “2SE
“ | CODE 36TM

Technical data
“” min (TMD-TMDR* " ‘g above - Operation temp. -20 +100°C | 21212F
“L" min(TMR-TV" , « “hove - Dimension hose 5/64" (external ¢ 5,1 mm)
Operation press. : ' 630 bar 9135 psi Material hose Polyamid
Burst Pressure (1950 bar at 20°C 28275 psi at 68°F Standard -
R (bending radius) 20 mm 0791in Outer casing hose Perforated
Lunghezze standard (mm) inclusive di n.2 raccordi e tappi Longueur standard (mm) comprenant 2 raccords et bouchons
A Standard lengths (mm) inclusive of no.2 connections and plugs Longitud estandar (mm) con 2 racores incluidos y tapones
Standard-Lénge (mm) einsch.2 und Stopfen Anschliissen Comprimentzo standard (mm) incluido nas 2 ligacdes e tampdes

standard L = 90 + 120 mm min. - 1 mm upward increase  standard L = > 120 mm min. - 5 mm upward increase

Example (TMD91; TMD119; TMR107; TMR114V1; ... Example (TMD120; TMD125; TMR135; TMR150V1; ...)
HOSE FITTINGS

code 36MREPD code 36MREPR

v
% éw
A

S12,65X15
17 3 S1265X15 /(; 2
All dimensions inmm/inch o ; 779

274 -024 Special Springs




= FLEXFLOW
Hose @ 5,1 mm

Code TMAD L 'tg (90 + 120 mm) L tg (> 120 mm) GOde TMAD...'1 COde TMAD...'2

L)

rrrrrrrrrrrr E L*3 (min 140 mm) L*3 (min 190 mm)
N s L -
3| N HOSE
; =S |copE 36TM §
+3 . +5 o i o
-0 : | e e aen
L*3 (90+120 mm) L* (>120mm) code TMADR...-1 code TMADR...-3 code TMADR...-2

L*3 (min 155 mm) L *3 (min 155 mm) L*3 (min 195 mm)

code TMAR code TMAR...-3 code TMAR...-2

L *3 (min 150 mm) L*3 (min200 mm)

Fittings
360° rotable

e

Examples of rotated fittings:

1 _."_l " 4
i I __'-..i-'-

L

HOSE

CODE 36TM g \

0571
2.20

Technicaldata | Lo
“L” min See above - Dimension hose 5/64" (external g 5,1 mm)
Operation pressure 630 bar 9135 psi Material hose Polyamide
Burst Pressure 1950 bar at 20°C | 26275 psiat68°F |  Material fitting Stainless Steel
R (bending radius) 20 mm 079in Standard -
Operation temp. -20 +100°C -2+212°F Outer casing hose Perforated
Lunghezze standard (mm) inclusive di n.2 raccordi e tappi Longueur standard (mm) comprenant 2 raccords et bouchons
A Standard lengths (mm) inclusive of no.2 connections and plugs Longitud estandar (mm) con 2 racores incluidos y tapones ;
Standard-Lange (mm) einsch.2 und Stopfen Anschliissen Comprimentzo standard (mm) incluido nas 2 ligagdes e tampdes ! Anti-kink protection
) ) 5 ) Knickschutzwendel
standard L = 90 + 120 mm min. - 1 mm upward increase  standard L = > 120 mm min. - 5 mm upward increase ! Protection anti-croquage
Example (TMAD91; TMAD119; TMAR107; TMAR114; ...) Example (TMAD120; TMAD125; TMAR135; TMAR150; ...) { Proteccion anti-pliegue
i Protecéo anti-dobra
HOSE FTTINGS  code: 36FFOGA
code 36MREPDA - code 36MREPRA T i D o)y,
H _ L = : i @
: i ? 195
e e - E s 7
=S : >ZL | % 096
p 3 i / 3 0.38
$1265X15 ! ‘ 3
. ’ 15,5 : v S
5 3 stegsxts e gﬁ gE
: : .67 o021

All dimensions inmm/inch

Special Springs 024 - 2275




FLEXFLOW

1

SPECIAL SPRINGS

CODE: G . I | H L 8§ . C @D E

RMTCY | G1/8" | 8 03730 118 41 167 S14-18:20Nm |12 0471195 077 4 016
CRMTCO1Y | G1/4" D10 039 31 122039 154 $19-22:25Nm 12 047 17 067 3 012!
CRMTC022 | G1/8" (8 03730 118 - - | S14-18:20Nm 12 047 - - ' 4 016!
CRMTC032 © G14" 10 039:31 1220 - -  §19-22:25Nm 12 047 - - 3 012
CRMPTY 1711620 1 11 043 30 118 43 169 S17-18:20Nm | 12 047195 0.77: 3 012!

1) Con valvola unidirezionale - With one way valve - Mit Riickschlagventil - Avec valve unidirectionnelle - Con valvula unidireccional - Com valvula unidireccional
2) Senza valvola unidirezionale - Without one way valve - Ohne Riickschlagventil - Sans valve unidirectionnelle - Sin véalvula unidireccional - Sem valvula unidireccional

code RMTT
$12,65x1,5

|

12

[=2]
N

114

12

wE - S 14

7| |47

$12,65x1,5

Blocchetto di distribuzione - Distribution block - Gasverteilstiick - Plot de distribution - Bloque de distribucion - Bloco de distribuicao

BDMO1... o BDMO2... 0 BDMO3... @ BDMOA4... o
25 18 30 ] 50 3 G1/8" 63 18"
.98 7 < 118 ol 197 02/ 69 2, | 248 )
Gg" | o | G18" | ™ i 05 7| 31 25
o | |<REEH ¥ 3 Zi | 1z e 9B
E | T ok | L |
| | =5 @ _FRE&I@ @
J H — ‘ ‘
: W T ‘
G 1/8" 016 . a1 016 | o H
. . 18:20Nm 756 : : o ;
1820 Nm 063 § i I T 61 016

18-20Nm .63 . 18-20Nm 0.63

; 39BDMO102B : 24 (094 : 39BDM0202B : 26 1021 | : 39BDM0302B : 335 32 ;¢ 1 39BDM0402B : 26 102

| 39BDMO1B | 385 752 | | 39BDMO2B | 405 750 | | | 39BDMO301B | 48 789 = | 39BDM04B | 405 159 |
| 39BDMO103B | 48 789 || | 39BDMO203B : 50 197 i | | 39BDMO303B : 575 226 | | 39BDMO403B | 50 197 |
BDM = BDM =
e G 1?331 20
30 . 55 Y0 3155 S
e 21T, | 2 [A]
; NS
?Elt. A TGS 28 L@}m[‘\
.
U E
ap 010 | Me [ '
750 739" 65+7Nm
CODE CODE L
39BDMO5A 30BDMO7A | 33 130 |
. 39BDMO6A @ 42 165 30BDMOBA : 49 193
276 -024 Special Springs




THIS PAGE IS INTENTIONALLY LEFT BLANK

Special Springs 024 - 2277




FLEXFLOW HEAVY DUTY —
STAINLESS STEEL G 1/8" "

Raccordi tubo-cilindro/pannello - Hose-cylinder/panel connections - Anschliisse zwischen schlauch und Zylinder/Kontrollarmatur -
Raccords tuyau-cylindre/tableau - Racores manguera-cilindros/panel - Racord tubo-cilindro/painel

code 39BDM0901 - code 39BDM0902 ~ code 39BDM1001
207 2 | 2072 3 217 2
. 3 & 3 ol & 2w
o o sls i d sls
w w ; w !
QIR -+ = ST A %
HE EEE. LN © SR
18+20 Nm|S 17 0-ring 0-ring 40 [151] | 18+20Nm|S17 0-ring 20 ‘15,1
,,,,,,, R 157 &9 7959
1 G1/8 55,1 § 35,1
; 217
,,,,, S g 1/8 — A VS
i
T
- =— = K ==
) = =
20 15 20 |15 20 |15
I A T A e o0
code 39BDM1002 Blocchetto di distribuzione - Distribution block - Gasverteilstiick - Plot de distribution - Bloque de distribucion -
 Bloco de distribuigao
2165 2 - code 39BDM1101  code 39BDM1102
& 5 o2 . <o §§
g s e ==
— I B N AR N o I |14
< E(DE | o] | |Eemileso:!
18=20Nm|§ 17\ 0-ring 4 [151) | ‘ 75 37’;‘ 40 |15
[, N 157 59 ‘ : 157 59
\ G1/8 55,1 G 55,1
: 217 g3 /18:20Nm 217
! i
) == e {O) (O} ==
= | Ssns) | T
20 || 1,5 17,515 | 15|17,5 G 1/8” (4x) 17,5/15 | 15 |17,5 G 1/8” (4x)
79 06 A P69 59 59 69
Raccordi tubo-cilindro/pannello - Hose-cylinder/panel connections - Anschliisse zwischen schlauch und Zylinder/Kontrollarmatur -
Raccords tuyau-cylindre/tableau - Racores manguera-cilindros/panel - Racord tubo-cilindro/painel
code 39BDM1201 code 39BDM1202 code 39BDM1301
o 217 = o 2T ~ L~ =
= V&u\ﬂ S8 Eg ;‘6 = & ] = o|x 6 S 2]3;-7 g 28 %
g [ o S FT = P e Sls I s e L
SO A - ©)-5 =Y DL 5N 2 sy
ol 4 & B a j oot o 9 il ar : § =N V| o i
K ' ~ 3 > ~ 5
ormg |54 S |20 |1 v IS4 Fs A, =i 20_|14
95 ‘ 157 5% - =k 65-7Nm | 0 &

34 \H ''''''' M6 54 | 34
134 o 6,5+7 Nm 213 \A ''''''' M6 12

! T 0-ring
! \
== RN, [ e M
10114 0114
15120 | 94 045 | 20 | 15
o6 .79 79 06

All dimensions inmm/inch
278 -024 Special Springs




— FLEXFLOW HEAVY DUTY
u——— STAINLESS STEEL M6

SPECIAL SPRINGS

code 39BDM1302 code 39BDM1401 - code 39BDM1402
Vg 217 5 4 Vg 27 % o Vg 217 :,; 4
« &8 o 6 &8 SIS 6 S 58 o 16
——5 s — ‘ | — % S _.
g B B | e il
G S Hel a1t Hel - o
SR S4 o | s4 20 |14 IS s4 0 |14
- 6,5+7 Nm 157 5 P 6,57 Nm 79 & P 6,5+7 Nm 157 %
54 § 34 § 54
,,,,, L 213 § 14 § I 213
\ \ M6 : 3 \ ‘ M6
e “—— s
0-ring ] 'l 0-ring
‘ ‘ _ | ——0-ring ‘
= == i = ' i o ==
0114 | ] o114 o114
0.4 20 1,5 15 20 .45 1,5 20 .45
79 06 679 06 .79
code 39BDM1601 code 39BDM1602
S1265%15 ‘ 51265x1.5
ng o 0-fing Gl o/ 0-fing
LS [
| o~ ‘ N~ &] | | N~ &]
& 87 gk — | D=kl L e o o
S4-6,5:7 Nm 20 |14 | |s4-65:7Nm 0 |14
20 79 5% i 20 157 &
79 34 i 79 54
14 § 213
© =
oD ‘
=l 0114 1%
745
Blocchetto di distribuzione - Distribution block - Gasverteilstiick - Plot de distribution - Bloque de distribucién - Bloco de distribuigéo
code 39BDM1501 code 39BDM1502
011,4 4 0114 4
<o 05 o8 2 0 At 065 gF o/ 7
= = ,4?:‘/‘ == als .
I R (S S IS N = & | . AN | N
&1 af@y - a=—&
34 ~LSy S| 20 |14 34 0 |14
13 85> 5% 157 &
2 34 54
14 213
SR &%
175[15 [ 15 [175 G 1/8” (4x) 17,5 157415 175 G 1/8” (4x)
b 5% 5 & 3 LR All dimensions in mm/inch
024 - 279

Special Springs




